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The F-Distribution

The F-distribution is similar to the 
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 distribution – it is skewed and always positive.

The F-distribution is different from the 
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 distribution in that we will be using two degrees of freedom – a denominator and a numerator.

Reading the F Table

1. Locate the 3-row set for the numerator 
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.

2. Locate the row for the alpha.

3. Locate the column for the denominator 
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.

4. The F value is the intersection of the row from Step 2 and the column from Step 3.

ANOVA stands for ANalysis Of VAriance.

We are interested in determining if there is a difference among the means.

With 
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 groups and 
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 representing the index for a particular group, we are given: 
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. Our first step will be to calculate: 
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 (sum of x total); 
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 (sum of x-squared total); and 
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 (sum of n).

The Hypothesis Test

	1. 
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  – there is no difference among the means.

	2. 
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  – there is a difference among the means.

	3. 
	Calculate the critical F:
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	4. 
	Calculate F from the sample data:
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